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Direction: Choose the word or phrase (a), (b), (c) or (d) that best completes each sentence.

11- It seems to me that they never gave a thought to .......... future problems when the plans were being laid down five years
ago. .
1) unbelievable 2) probable 3) unreasonable 4) impossible

12- Every substance has a melting point and a boiling point. The former is the temperature at which it changes from solid to

liquid. The .......... is the temperature at which it changes from liquid to gas.

1) later 2) latest 3) latter 4) last

13- You could .......... being a little bit more friendly, couldn’t you? .

1) afford 2) comfort 3) effort 4) support

14- She is very .......... You just couldn’t make her walk past under a ladder.

1) religious 2) deformed 3) supernatural 4) superstitious

15- Despite these overwhelmingly difficult trading conditions, the company has .......... produced outstanding results.
1) therefore 2) accordingly 3) nevertheless 4) consequently

16- I’'ve listened to your argument. It’s neither here nor there. In other words, it’s quite ........... .

1) memorable 2) irrelevant 3) scornful 4) enormous

17- We were surprised ........... James.......... so soon after his car accident.

1) to see/walking 2) being seen/walked

3) to have seen 4) seeing/to have walked

18- .......... out of school as a teenager. Maurice decided later in life .......... up his education where he had left off.
1) being dropped/took 2) having dropped/to take

3) to drop/taking 4) dropped/being taken

19- When .......... for olive oil, “refined” means that the oil .......... chemically to neutralize acid content.

1) using/ will have treated 2) to use/ will be treated

3) uses/ is being treated 4) used/ has been treated
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20- .......... of the countries of Western Europe used to have its own currency, but now .......... of them use the Euro.

1) either/any 2) all/whole 3) each/most 4) whole/every
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